
α-Tl2TeO3 Structure:
A3BC2 oP48 50 3m m 2m-001
This structure originally had the label A3BC2 oP48 50 3m m 2m. Calls to that address will be redirected here.
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Prototype O3TeTl2

AFLOW prototype label A3BC2 oP48 50 3m m 2m-001

ICSD 240675

Pearson symbol oP48

Space group number 50

Space group symbol Pban

AFLOW prototype command aflow --proto=A3BC2_oP48_50_3m_m_2m-001

--params=a, b/a, c/a, x1, y1, z1, x2, y2, z2, x3, y3, z3, x4, y4, z4, x5, y5, z5, x6, y6, z6

• This is the high-temperature structure of Tl2TeO3. Below 440◦C it transforms into the monoclinic βTl2TeO3 structure,
but remains metastable at 25◦C, where this data was taken. (Rieger, 2007).

Simple Orthorhombic primitive vectors
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ŷ − cz3 ẑ (8m) O III

B23 =
(
x3 + 1

2

)
a1 − y3 a2 + z3 a3 = a

(
x3 + 1

2

)
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B38 =
(
x5 + 1

2

)
a1+

(
y5 + 1

2

)
a2−z5 a3 = a

(
x5 + 1

2

)
x̂ + b

(
y5 + 1

2

)
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